Question bank

Multiple Choice Question Based Model Question Paper 2020 - 21
PAPER - 02[Set 01]
Subject : Second Language English

Four choices are given for each of the questions/incomplete statements. Choose the
correct answer and shade the correct choice in the OMR given to you with blue /
black ball point pen.

40x1 =40

41. Read the given conversation and identify the correct language function of the
underlined words.

Meena : May | wait for you in the corridor ?

Kavana : Yes of course .

a. advice b. offering help c. request d. asking
permission

42. The word which collocates with ‘lay’ is

a. attention b. emphasis c. notice d. order
43. The word which has two syllables is

a. Down b. away c. intelligent d. through

44. He can speak English.

The passive form of the above sentence is
a. English is spoken by him.

b. English was spoken by him.

c. English can be spoken by him.

d. English would spoken by him.

45. India by foreigners for many centuries.

The appropriate tense form of the verb to be used here is

a.isruled b. was ruled c. are ruled d. were ruled
46. The appropriate prefix to form the opposite of ‘honest’ is

a.in b.im c.un d. dis

47. Lalitha dances gracefully.
The part of speech of the underlined word is a/an

a. verb b. adverb c. adjective d. preposition
48. After unlock many people have on vacations.

The correct phrasal verb to be used here is

a. set back b. set up c. set off d. set out

49. Very few batsmen are as popular as Sachin.

The superlative form of the above sentence is

a. Sachin is popular than most other batsmen.

b. Sachin is one of the most popular batsmen.

c. Sachin is more popular than most other batsmen.

d. Sachin is one of the popular batsmen.

50. If I had taken the jab, | ___ suffered of corona.

The correct words to be used here to complete the ‘if’ clause sentence are
a. Would have b. would had c. wouldn't have d. should
have

51. Children love chocolates,

The question tag to be used here is

Prepared by Syeda Asma Fathima GJC DN Doddi Malur Kolar



Question bank

a. don't they? b. are they? c. does they? d. didnt
they?

52..0n very first day at ____University of Texas, Kalpana met Jean Harrison.
The articles to be used here are

a. a, the b.an, a c. the, the d.a,an

53. Several people are waiting ____the bus stop
The preposition to be used here is

a. at b. on c. under d. to

54. Rohit was a rich man , he didn't give any donation.

The conjunction to be used here is

a. although b because c. still d. if

55. Dr AP J Abdul Kalam is a person

The correct form of the word to be used is

a. knowledgeable b. knowledge c. know d.
knowing

56. What type of letter would you write to your grandma?

a. personal b. official c. business d.b&c
57. “Aiyo! Something has bitten me."Who cried out?

a. burglar b. swami c. father d. ghost
58. What did swami want to become later in his life?

a. policeman b. an engineer c. a watchman d.

an engine driver
59. Swami knew his father’s tenacity. The contextual meaning of the word ‘tenacity’
is

a. anger b. determination  c. dedication d .will

60. The only person who volunteered to help Baleshwar was :

a. railway guard b. doctor c. tempo- truck driver d. on duty
Physician

61. The doctor at Divine hospital admitted Roma without any paper work
because

a. She was injured seriously b. because Baleshwar was a
good man c. It was a private hospital d. he feared that she
may die

62. Seeing Don Anselmo’s old green and faded coat, the author suddenly thought of

a. Senator carton  b. the American c. Chaplin d. The Jazz
player

63. The young man who accompanied the old man had eyes like ____

a. gazelle b. fish c. almond d. lotus

64. “The trees in that Orchard are not mine, senor”. Who said these words?
a.Don Anselmo b. story teller

c. American people d. children of the village

65. Dr. Ambedkar came to be greatly influenced by the life and works of
a.Mahatma Phule b. Mahatma Gandhiji c. Avvai d. Buddha
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66.0ne of the following was not a member of the drafting committee of the
Constitution

a.Alladi Krishnaswamy Aiyyar b. KM.Mumshi

c. Dr. Rajendra prasad d. Gopala swamy lyengar

67. How did Ananth astonish his guru?

a.He could play the sitar better than his guru b. he asked him a number of

questions c. he composed his own tunes d. he learnt playing the
sitar quickly

68. “Enjoy yourself .Lucky you!” Who said these words?

a. Ananth b. Smitha c. mother d. Aunt Susheela
69. In every beat of Tabala, Smitha heard

a. Ananth’s voice b. Ustad Allah Rakha's voice

c. Pandit Ravishankar’s voice d. her own voice

70. Satish said to Surender, “ Why are you speaking so softly? | can barely hear you.”
Why couldn’t Satish hear?

a. He was ill b. he was hard of hearing

c. he was pretending d. he wanted Surender to repeat it several times.
71. The quality of mercy is compared to :

a. God b. sceptre c. heaven  d. the gentle rain from
heaven

72.When the doctor suggested granny a quiet week in bed ,the family members felt

a. sighed with relief b. angry with the granny

c. cried for granny d. rejoiced

73. The relatives told the Grandma to stop climbing the trees because they wanted
her to .

a. stop her b. grow old age gracefully

c. give her rest d. jealous of her

74. And earthly power doth

The appropriate option to complete this line of the poem is
a. then show likest God's

b. better than his crown.

c. to awe and majesty,

d. in the heart of kings;

75. The book of ‘Marrow’ was written by.

a. The poet. b. The poets mother.

C. The seers. D. The mother India.
76. The mother advised the poet Gokak to sing about

a. the politicians of the country

b. the poor and the sick people of the country

c. the scientists who made the many discoveries

d. the seers and prophets

77.And could |

The appropriate option to complete this line of the poem is
a. blessing of the sight,

b. ne’er enjoy.

c. wondrous things you see,
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d. ever keep awake
78. The Poem ‘Jazz Poem Two’ is written by

a. Christine Rigden b. Carl Wendall Hines

c. Ruskin Bond d.William Shakespeare

79. The Students handed tothe D.S.P

a. the flag b. copies of Gandhiji's speech
c. a piece of paper d. Invitation card

80. Hanif's mother Hema Aziz was___.

a. a musician. b. a vocal artist. c. adancer.

actor.
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Multiple Choice Question Based Model Question Paper 2020 - 21
PAPER - 02 [Set B]
Subject : Second Language English

Four choices are given for each of the questions/incomplete statements. Choose the
correct answer and shade the correct choice in the OMR given to you with blue /
black ball point pen.

40x 1 =40

41) Read the given conversation and identify the correct language function of the
underlined words.

Grandpa: Rajy, ............

Raju  :Yes what can | do for you?

Grandpa : Could you help me carry this bag to the bus ?

Raju  :yes of course.

a) Order b) obey c) request d) advice
42) The word which collocates with ‘book’ is

a) ant b)hand c)pen d)
worm

43) The word which has one syllables is

a)Hospital b)ant c) today d)
request

44) Rahul had finished the project.

The passive form of the above sentence is
a) The project is finished by Rahul

b) The project has been finished by Rahul
c) The project was finished by Rahul.

d) The project had been finished by Rahul

45) The children in the garden every day.

The appropriate tense form of the verb to be used here is

a) Played b) is playing c) was playing

d)play

46) The appropriate prefix to form the opposite of ‘mortal’ is

a)in b) im c) un d) mis

47 .The briefcase was stolen at the station.
The part of speech of the underlined word is a/an

a) verb b) adverb c) noun d) preposition
48.Rohit takes very little time to the innings

The correct phrasal verb to be used here is

a) set on b) set up c) set off d) set out

49. This is the shortest way to school.

The comparative form of the above sentence is

a) This way to school is short than any other way.

b) This way to school is shorter than any other way

¢ ) This way to school is a short way.

d) This way to school is short than all other ways.

50) Suma: Hi, Sujatha, Did you buy the reference books?
Sujath: No | did not.
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Suma: Why?

Sujatha : If | had got money. | ___ bought the books.

The correct words to be used here to complete the ‘if’ clause sentence are

a) Would not have b)Would c) Will have d) Would have
51) Mohit baked a cake,

The question tag to be used here is

a) doesn't he? b) didn't he? c) wasn't he? d)
will he?

52) There is interesting legend about saint who flew on a
mattresses

The articles to be used here are

a) a, the b) an, a c) the, a d) an, the

53) There is a big painting the wall

The preposition to be used here is

a)to b) among c) after d)on

54 )Jeevan likes paragliding ____ his brother hates it.
The conjunction to be used here is

a) whereas b) so that c) since d) despite

55 )Jadejais an fielder.

The correct form of the word to be used is

a) excel b) excels c) excellent d) excellently
56) In a personal letter, you will not use this subscription.

a) Yours lovingly b) Yours faithfully c) Your loving brother d) Your loving
son

57) Swami would not have become a hero if

a) He was not asked to sleep in the office room
b) he had not slept under the bench

c) he had not remembered the stories of ghosts

d) the burglar had not come to the office room
58) “ Something was moving down”
According to Swami the something was

a) ascorpion b) a tiger c) a devil d)a
burglar

59) “Will you at least leave the door open?” Who pleads for it?

a) Swami b)father c) cook d)mother
60) “There’s a girl by the tracks” These were the voices of

a) Dinesh Talreja b) Baleshwar Mishra

c) People in the opposite train d) Roma

61) Roma loved her job because
a) She could travel on train

b) She could talk to many people and make new friends
c) it was a good job

d) Her family wanted her to work

62) When did our constitution come into force?
a)15" August 1947 b) 26" January 1950
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c) 30" January 1950 d) 1°* November 1956
63) How did Nehru describe Dr. Ambedkar on his passing away?

a) A Great soul b)A great patriot

c) A great leader of the depressed class d) A symbol of revolt

64) Smitha was so excited on seeing the announcement that she had not
remembered that her brother was ill. So she bit her lips in
a) Agony b) self reproach c) anger d) anxiety
65)As soon as the music of Pandit Ravi shankar and Ustad saheb came to an end
Ananth

a) Breathed his last b) was spell bound

c) thanked his sister d) expressed his gratitude to the
musicians

66) | argued with him but it was useless. Who argued with whom?

a) Don Anselmo to story teller b) story teller with Don Anselmo

c) American with Don Anselmo d) Anselmo with Americans

67) Behind him walked one of his “innumerable kin". The word “innumerable kin”
means that the old man had a numberof .

a) children b) trees in his orchard

c) relatives d)followers

68) Pick out the clue from the text that suggests that the old man was a

farmer? :

a) he loved trees b) he planted trees for children

c) He tilled the same land they had tilled d) he loved his people.

69)“We must always be Optimistic about his chance of recovering.” Who said this?

a) Father b) mother c) satish d) Inder

70) The turning point in Satish’s life was :

a) he watched a bird and drew its sketch b) his leg was operated

c) he was admitted to a new school d) he recovered his hearing

71) When the doctor took Granny’s temperature, he suggested her .

a) not to climb trees b) live gracefully

c) a quiet week in bed d) climb all the trees in the garden
72)When grandma climbed the tree for the last time she was years old.
a) six b) forty c) sixty two d) eighteen
73)Mercy is an attribute to

a) God himself b)man himself c) king himself d)power

74)lt is enthroned

The appropriate option to complete this line of the poem is
a)beneath. It is twice blest:

b) better than his crown.

c)to awe and majesty,

d) in the heart of kings;

75)“The Song of India “is a dialogue between.

a) The poet Gokak and his mother b) The poet Gokak and the sun God.
¢) Mother India and all the Indians. d) The poet Gokak and mother India
76) “........ she sat and wrote the book of the Morrow.” The book of Morrow refers to
a) The future of the country b) The past greatness of the country
c) The achievements of the country d) The problems of the country
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77) You say the

The appropriate option to complete this line of the poem is
a) blessing of the sight,

b) ne’er enjoy.

c¢) wondrous things you see,

d) sun shines bright;

78) His wrinkled old face is full of

a)life b)Happiness c) Wearies of living d)grief
79) Who suggested hiding the cyclostyling machine in the pooja room?

a) Mohan b)Sub inspector Patel c)Mohan’s mother d)Manju
and Babu

80. Hanif joined the____ and was posted at Jaipur.

a) 11 Rajaputana Rifles b) Narasingh post

c) Turtuk sector d) Kargil.
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Multiple Choice Question Based Model Question Paper 2020 - 21
PAPER - 02 [set 3]

Subject : Second Language English
Four choices are given for each of the questions/incomplete statements. Choose the
correct answer and shade the correct choice in the OMR given to you with blue /

black ball point pen. 40x1 =40
41.He frequently to our house.

The appropriate tense form of the verb to be used here is

a. visited b. visit C. visits d. will visit

42. Doctors do not write prescriptions nowadays.

The passive form of the above sentence is

a. Prescriptions are not written by doctors nowadays.

b. Prescriptions will not be written by doctors nowadays.

c. Prescriptions were not written by doctors nowadays.

d. Prescriptions are not being written by doctors nowadays.

43.Read the given conversation and identify the correct language function of the
underlined words.

Geetha : Can you play rugby ?

Neetha: no, | can't.

a.ability b.suggestion c. order d.
obligation

44. The word which collocates with ‘insatiable’ is

a. hunger b. thirst C. pain d. grief
45. The word which has two syllables is

a. man b. reader c. sight d. book
46. The appropriate prefix to form the opposite of ‘legal’ is

a.in b. il c.un d. mis

47.Mysuru zoo is one of the best zoos in India.
The part of speech of the underlined word is a/an

a. verb b. adverb c. adjective d. preposition
48.The candidates are not without their hall tickets

The correct phrasal verb to be used here is

a.letin b. let up c. let off d. let out

49.Swami Vivekananda is the wisest sage.

The positive form of the above sentence is_

a. No-other sage is as wise as Swami Vivekananda

b. Swami Vivekananda is wiser than any other sage.

c. Swami Vivekananda was wiser than any other sage

d. Swami Vivekananda is a wiser sage

50. If you had written the exam properly, you ___ scored A+ grade.

The correct words to be used here to complete the ‘if’ clause sentence are

a. Will have b. Shall have c. Should d. Would have
51. Aamina never tells lies,

The question tag to be used here is

a. does she? b. doesn’t she? c. won't she? d. will she
52. Arushis ____honest girl, sheis ___ most beautiful girl in her family.
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The articles to be used here are

a. an, the b.an, a c.the, a d. a, the
53. We need to wash our hands frequently soap and water

The preposition to be used here is

a. with b. for c.through d. into
54. 1 went to see my friend he was not at home.

The conjunction to be used here is

a. but b. because C. SO d. or
55. Good children seek their parents to go out.

The correct form of the word to be used is

a. permit b. permitted

C. permission d. permission

56. The part of the letter which has the information to be communicated

is

a. Subject b. Subscription c. body of the letter.  d. Salutation
57. “He didn’t have a wink of sleep the whole of last night,” said Swami's

a. Headmaster b. mother c. father d. grandmother
58. Why did swami make gesticulations?

a. To silence his mother b. to silence his father

c. to please his classmates d. to silence his granny

59. Things took an unexpected turn for Swami because of

a. The burglar b. his father

c. the news paper report d. his mother

60. Roma Talreja was a :

a. marketing executive b. call centre executive

c. un employee d.house wife

61. . What happened to Baleshwar as soon as he jumped down from the slow
moving train?

a. his ankel was broken b.he felt pain in his ankle

c. his knee was broken d. his left leg was injured.

62. It took months of negotiations to come to an understanding with the old man
because he

a. Could not hear properly b.couldnot understand the language
c. was not in a hurry d. the land was not measured.
63. The Americans are buena gente the underlined word means___

a. Aristocratic people b. good people

c. proud people d. sincere people

64. “I kept still and let him have his say."Who let who have his say?

a. story teller let Don Anselmo b. Don Anselmo let Americans
c. Americans let storyteller d. Don Anselmo let storyteller
65. Mahatma Gandhi called the depressed classes as

a. Scheduled caste b. Schduled Tribes

c. Harijans d. Backward classes

66. According to Avvai the only two castes in the world are

a. The rich and the poor b.the higher class and the lower class
c. the charitable and the misers d. the greedy and the misers

67. “They had come with high hopes”. Their hopes were that
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a. The could get tickets to the concert

b. Pandit Ravi Shankar would come to their house

c. Ananth would be cured at the hospital

d. they could stay with aunt Susheela.

68. “What shall we do, Ustad saheb?” Who asked this question?

a.Moustachioued man b. Pandit Ravi shankar

c. Smitha d.Father

69.Caligraphy refers to the art of practising beautiful

a. Writing b. painting c. drawing d.sketching
70. Satish’s father found the best school of arts for Satish so thathe____ .

a. he could get back hearing b. Enjoy his life

c. Make Life In His Chosen Field d. become a great artist.

71.The ‘sceptre’ is symbolic to

a. kindness b. divine grace C. power d. pain

72.Poet’s dad knew his duty, what was his duty?

a. to encourage her climb the trees

b. to build a house on the tree

c. to force her to stay on bed.

d. to get her admitted to old age home

73." It was like a brief season in the hell” The figure of speech employed here
is )

a. personification b. metaphor c. simile d. synecdoche
74. The attribute

The appropriate option to complete this line of the poem is

a. beneath. It is twice blest:

b. better than his crown.

c. to awe and majesty,

d. in the heart of kings;

75. It was clear dawn.

What does the clear dawn represent?

a. Sorrows b. bright future of the country C. savior d. divine power
76. Where does Mother sit to write the Book of the Morrow?

a. on the Mountains b. waves

c. sylvan retreats d.ship —building yard

77. You talk of

The appropriate option to complete this line of the poem is
a. blessing of the sight,

b. ne’er enjoy.

c. wondrous things you see,
d. sun shines bright;

78. ‘Preaching it with words'
What does ‘it’ stand for here?
a. Black Gospel of Jazz

b. the ancient mariner

C. poverty

d. weariness of life
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79. The 'Mysterious Parcel ' that was brought to Mohan’s house to make copies of _

a. Newspaper b. Mahatma’s speech

c. Pamphlets d. Memorandum

80. Hanif had no friends till 14 years of age because_____

a. brave b. extrovert c. intelligent d. intorvert
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Multiple Choice Question Based Model Question Paper 2020 - 21
PAPER - 02 [set 04]

Subject : Second Language English

Four choices are given for each of the questions/incomplete statements. Choose the
correct answer and shade the correct choice in the OMR given to you with blue /
black ball point pen. 40x1 =40
Read the given conversation and identify the correct language function of the
underlined words.
41.. Thomas : Come let's have a cricket match

Junaid : Its cloudy we can't play. It may rain today

a. Requesting b. advising c. possibility d. command
42. The word which collocates with ‘shake’ is

a. hands b.mouth c. leg d. eye

43. The word which has one syllables is

a. canteen b. wait c. major d. lucky

44. | saved a wounded puppy.

The passive form of the above sentence is
a. A wounded puppy were saved by me.

b. A wounded puppy was saved by me.

c. A wounded puppy is saved by me.

d. A wounded puppy are saved by me.

45. Jaya class for two hours online yesterday.

The appropriate tense form of the verb to be used here is

a. took b. taken c. take d.is
taking

46. The appropriate prefix to form the opposite of ‘comfort’ is

a.in b.im c.un d. dis

47. Happiness was a beautiful bird
The part of speech of the underlined word is a/an

a. verb b. adverb c. adjective d.
preposition

48.Can we ____the meeting until Wednesday please?

The correct phrasal verb to be used here is

a. puton b. put up with c. put off d.
put out

49. No other girl in the class is as tall as Mary.

The comparative form of the above sentence is_

a. Mary was taller than any other girl in the class.

b. Mary is taller than any other girl in the class .

c. Mary is taller than some girls in the class.

d. Mary was not taller than any other girl in the class.

50.1f you had maintained your vehicle, you __ won the race.
The correct words to be used here to complete the ‘if’ clause sentence are
a. Would have b. wouldn’t have

c. should have d. shouldn't have

51. Aishwarya can never singwell_____.

The question tag to be used here is
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a. can she? b. Can't she? c. Could she? d.
Did she?
52.1tis ____umbrella. Itis ___ useful thing.

The articles to be used here are | caught the ball

a. a, the b.an, a c. the, a d.a,an
53. Fishermen live the sea.

The preposition to be used here is

a. near b. from c. between d.
for

54.Dr Radhakrishnan was the President of India. He was a great philosopher ___a
great educationist.
The conjunction to be used here is

a. and b. So c. because d.
but
55. The parents of the bride had all her friends.
The correct form of the word to be used is
a. invitation b. invite c. invited d. inviting
56. Pick out the salutation that is not used in an official letter.
a. Yours faithfully b. Yours friendly
c. Yours obediently d. Yours sincerely
57. Father disliked Swami sleeping ___
a. Beside him b. alone
c. beside his granny d. in the office room

58. Swami said that there were scorpions behind the law books .He said so
because :

a. He saw the scorpions behind the books before

b. the room was dusty

c. he wanted to escape from his father's command

d. he was afraid of scorpions

59. And in sleep was racked with nightmares. ‘Nightmares’ here means

a. a frightening dream b. a pleasant dream

c. horses d. tigers

60. “Oh, | couldn’t thank him.” Baleshwar thought. The word ‘him’ refers to
a. traffic policeman b. on duty doctor

c. railway employee d. tempo truck driver

61. When Roma met with an accident no one volunteered because
a. they were afraid of getting involved in courts or police

b. they were strangers to Roma

c. they were busy in their works

d. they were callous

62. Who is the story teller in “GENTLEMAN OF RIO EN MEDIO”

a. R.K. Narayan b. Don Anselmo

c. Juan A.A.Sedillo d. Baleshwar
63.The old man sold his house and land to the Americans because
a. the Americans were good people

b. he needed money

c. He wanted to shift to the other place
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d. he was tired of the land and his relatives.

64. Dr. Ambedkar was a voracious reader. The word ‘voracious’ means

a.Fast

b. very eager for knowledge

c. reading with concentration
d. reading in between the lines

65.The Indian National Congress made Dr.Ambedkar the chairman of the drafting

committee of the constitution because

a. He belonged to the depressed class

b.he was one of the congress leaders

c.he had underlying faith in the dignity of human beings
d.he was a voracious reader

66. Smitha went to the stage to

a. To meet the tabla player

b. to request Ravishankar to come to her house

c. talk about the evenings concert

d. offer bouquets to Ravi shankar

67. Smitha's neighbours could not believe their eyes because
a. Ravi Shankar would call Ananth to play the sitar

b. Ananth would soon meet Ravi Shankar in the auditorium
c. Ananth would recover soon

d. Ravi Shankar came to Smitha’s house to play for Ananth
68. “It's the chance of life time” . Who said this?

a.Smitha b. Ananth c. Mother

69. Satish Gujral was honoured by the Government of India with
a.Padma vibhushan b. Padma Bhushan

c. Arjun award d. Bharat Ratna

70. Satish’s life and achievement are ample proof..........
a. Physical disability is no barrier to success

b. Painting has a great future

c. He got back his hearing

d. One shouldn't go trekking

71. The speaker calls his grandmother

a. Childish b. genius c. adventurous

d.Father

d. heroic

72.For in all the garden there wasn't a tree. She hadn't been up, this implies that

a. There were no trees left in the garden

b. she could climb but not come down a tree
c. she had planted the trees in the garden

d. she had climbed all the trees in the garden
73. The greatest virtue of all is
a. The quality of justice

b. The quality of bravery

c. The quality of Mercy

d. The quality of cruelty

74. Upon the place
The appropriate option to complete this line of the poem is
a. beneath. It is twice blest:
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b. better than his crown.

c. to awe and majesty,

d. in the heart of kings;

75. Who were the children who died to call mother India their own?
a. Poet’s ancestors b. sick people

c. freedom fighters d. poor people
76Why is poet V K Gokak querulous ?

a. as there is no song that he could sing of Mother

b. as Mother writes the book of Morrow

c. as there is poverty in India

d. as Indian technology is reached greater heights

77. What are the

The appropriate option to complete this line of the poem is
a. blessing of the sight,

b. ne'er enjoy.

c. wondrous things you see,

d. sun shines bright;

78. The old jazz player was ____

a. Rich man b. Poet c. beggar d. Musician
79. Mr. Patil was a :

a. Student b. Lawyer

c. Sub-Inspector d. Freedom Fighter

80. Which dream of Haneef remained unfulfilled?

a. rise up the ranks. b. to get a subsector named after him.

c. to get into Rajputana Rifiles.  d. to have a band named after him.
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Multiple Choice Question Based Model Question Paper 2020 - 21
PAPER - 02 [set 5]
Subject : Second Language English

Four choices are given for each of the questions/incomplete statements. Choose the
correct answer and shade the correct choice in the OMR given to you with blue /
black ball point pen 40x1=40
41.Read the given conversation and identify the correct language function of the
underlined words.

Sohail: Mummy can | go out to meet my friend?

Mother: yes you can, but you should wear mask, wash your hands often and maintain
distance.

_a. Giving permission b. Request c. advice d.
possibility

42. The word which has two syllables is

a. accept b. lawn C. quiz d. difficult

43. . “Open the door”.

The passive form of the above sentence is

a. The door is opened.

b. The door was opened.

c. Let the door be opened.

d. The door to be opened.

44. The word which collocates with ‘tenuous’ is

a. waves b. catch c. cradle d. hold

45. Children playing cricket.

The appropriate tense form of the verb to be used here is

a. loves b. love c. loved d. are loving
46. The appropriate prefix to form the opposite of ‘justice’ is

a.in b.im c.un d. mis

47 .He visits frequently to our house.
The part of speech of the underlined word is a/an

a. verb b. adverb c. adjective d. preposition
48. | can't the tent. | think it's broken.

The correct phrasal verb to be used here is

a. puton b. put up c. put off d. put out

49. Lead is heavier than any other metal

The positive degree of the sentence is.....

a. No-other metal is as heavy as Lead.

b. Lead is the heaviest metal

c. Lead is heavy metal.

d. Lead is heavier than other metal

50. Teacher : Seema, did you bring your project?

Seema: Sorry teacher, | forgot.

Teacher: If you had brought the project, | ___ evaluated it.
The correct words to be used here to complete the ‘if’ clause sentence are
a. Should've b. Wouldn't ve
c. Would have d. Shouldn't ve.
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51. 1 have boughtacar____
The question tag to be used here is

a. Haven't I? b. Hadn't I? c.Had 1? d. Has I?
52. __ apple aday keeps ____ doctor away.
The articles to be used here are
a. a, the b.an, a c. an, the d.a,a
53. The horse jumped the hurdle.
The preposition to be used here is
a. put b. for c. over d. below
54. We must try again and again we succeed.
The conjunction to be used here is
a. so b. because c. until d.if
55. is the mother of invention
The correct form of the word to be used is
a. necessary b. necessity c. necessarily d.need
56. The salutation is written after the
a. Subject b. Subscription c. Heading d. Body of the letter
57.In his sleep Swami was racked with night mares about
a. alion b. a ghost c. atiger d. acobra
58. “ Leave alone strength. Can you prove you have courage?” Who asked whom?
a. Headmaster to Swami b. Swami to father
c.father to Swami d. mother to Swami
59. Swami used his teeth on it like a mortal weapon? Who does it refer to?
a. a weapon b. a tiger c. a ghost d. a burglar
60. What was Dinesh Talreja?
a. marketing salesman b. call centre executive
c.a mechanic d. an officer
61. “Baleshwar implored the motorist” the word ‘implored’ means
a. shouted b. requested c. ordered d. instructed

62.“The only valid divisions are between those who were noble and wholesome and
those who are ignoble and unwholesome”. This was said by

a. The Buddha b. Mahatma Gandhi

c. Mahatma phule d. Avvai

63.According to Dr. Ambedkar miss directed and volatile agitations results in

a. Change of Government b. loss of lives and public property
c. dictatorship d. formation of a good Government

64. “ 1 did not sell the trees because, | could not, they are not mine.” Whom do they
belong?

a. his parents b his wife

c. already sold d. the children of Rio en Medio.
65. The language spoken by Don Anselmo is

a. French b. German c. Spanish d. English

66. Suddenly a daring thought came to Smitha, what was the thought?
a. | can request Ravishankar to play for my brother

b. I can go to the concert with my father

c. Why can't | take Ananth with me to the concert
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d. I should not go the concert alone
67. “This is not the last time they are going to play.” Who said this and to whom?

a. Mother to Smitha b) Ananth to
Smitha c¢) Mother to Ananth d)
Smitha to mother

68. ‘After the unsuccessful expedition to the schools, Satish became very moody’
.What is the contextual meaning of ‘expedition’?

a. visit b) journey c) voyage d) navigation

69. Satish stopped playing because

a. He was deaf b) he didn't like to play
c) other boys made fun of him d) he had no time to
play

70. The frightening truth which Smita knew was .

a. her brother Anant was going to die of cancer b. she would stay back in
Mumbai c. her guruji would not admit her again d. she would never

meet Pandit RaviShankar
71. What does the poem Grand ma climbs a tree reveal about the poets grandmother.
a.Grow disgracefully b) her love for trees
c) her hatred for trees d) live in a tree top
72.My grandmother was a genius the underlined word means
a.A tree climber b. an elderly person c. a gifted person d. a happy person
73. The poem ‘Quality of Mercy’ is written by
a. William Shakespeare b. Ruskin Bond
c. John Masefield d. Portia
74.The throned monarch
The appropriate option to complete this line of the poem is
a. beneath. It is twice blest:
b. better than his crown.
c. to awe and majesty,
d. in the heart of kings;
75. The poem ‘The song of India' was written by......
a. Rabindranath Tagore b. V.K. Gokak
c. Ruskin Bond d.William Shakespeare
76. According to V. K. Gokak, what have Seers and Prophets done?
a. showed the right path to follow b. told what to sing .
c. gave technologies d. built industries
77. Which I must
The appropriate option to complete this line of the poem is
a. blessing of the sight,
b. ne’er enjoy.
c. wondrous things you see,
d. sun shines bright;
78.the Jazz player is transformed to a bird that flies higher and higher when he
a. when he begins playing saxophone.
b. when he stops playing saxophone.
c. when people gather.
d. when people praise him.
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79.Why was Manju disappointed?

a. As the protest was silent

b. As the protest was noisy

c. the students were fighting among themselves loudly

d. As the protest was violent with police

80. The officers of Rajaputana Rifles formed a music group now calledas_____
a. Raj music b. Narasingh post

c. ‘Haneef’ d. Sub sector Haneef.
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